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ECE-320, Quiz #5
Problems 1-5 refer to the following root locus plot
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1) True or False?  (circle one) It is possible to find a value of k so that -6 is a closed loop pole.

2) For k = 623, two poles of the closed loop system are purely imaginary. In order for the system to remain stable

a)  k < 623    b)  k > 623    c) k > 0     d) k < 0

3) If k is chosen so the system is stable, what is the position error of the system?

a) impossible to determine  b) 0   c) 
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   d) 1

4)  True or False? (circle one) It is possible to find a value of k so that the estimated settling time is less than 4 seconds.

5)  True or False? (circle one) It is possible to find a value of k so that the estimated settling time is less than 1 second.

Problems 6-8 refer to a system with 
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6) How many real axis segments are on the root locus for this system?
a) 0       b) 1        c)  2          d) 3

7) The centroid of the asymptotes is located at 

a) -2      b) -5/2    c) -5/3      d) -4/3
8) The angles of the asymptotes is/are
a) 
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 and 180     b)  
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   c) 
[image: image8.wmf]45

±

 and 
[image: image9.wmf]135

±















































_1174832498.unknown

_1174889600.unknown

_1174889727.unknown

_1174890167.unknown

_1174889712.unknown

_1174889577.unknown

_1171694430.unknown

_1174821694.unknown

